10 by 7 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

513 8 4 6
0 2 3
2 4 |1 3
8 0
41219 5
0 3 4 2 |6
1634|2140 (3426 |29| 9 |37 |24

3 5 4
8 3 |1 4
2 1|7 8 6
219 3
816 2 0 3
5 6 9
2113312442 23|19 26|23 |36 |23
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

5/3/118(914|7,0/]6 |2
014 (2,76 |53 |19 |8
2|56 (8419073
119171358124 ,6]0
81412196 |10 3|75
0193 54|78 |1]2]6
16 |34 |21 (40 |34 |26 |29 | 9 |37 |24
O[3 (852|146 |79
8171219160 |3 |15 4
2191|7148 5]6 |03
0O/512(9]6 /(3 7|1 ]84
9/ 81614210573
2111583674910
2113312442 (23|19 26|23 |36 |23
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